

BID TABULATION

PROJECT NAME:

FY 2019 Safe Streets to Transit Program Downtown Traffic Calming Improvements

PROJECT NUMBER:

O116U145 CLIENT: City of Margate City DATE: February 11, 2021		ENGINEER'S ESTIMATE	L. Feriozzi Concrete Company 3010 Sunset Avenue Atlantic City, NJ 08401 609-823-2563 ((BB, CS, SS, etc.))	Diamond Construction 35 Beaverson Blvd., Suite 12C Brick, NJ 08723 732-262-7449 ((BB, CS, SS, etc.))	Think Pavers Hardscaping, LLC 125 Kings Highway Mount Royal, NJ 08061 856-832-4680 ((BB, CS, SS, etc.))
BASE BID	OUANTITY	UNIT	UNIT	UNIT	UNIT

BASE BID					((BB, CS, SS, etc.))		((BB, CS,	SS, etc.))	((BB, CS, SS, etc.))		
2,102		QUA	NTITY	UNIT		UNIT		UNIT		UNIT	
#	DESCRIPTION	& l	JNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	Mobilization	1	LS	\$5,000.00	\$5,000.00	\$2,115.00	\$2,115.00	\$5,000.00	\$5,000.00	\$9,499.80	\$9,499.80
2	Breakaway Barricade	4	UN	\$50.00	\$200.00	\$1.00	\$4.00	\$0.01	\$0.04	\$500.00	\$2,000.00
3	Drum	50	UN	\$50.00	\$2,500.00	\$1.00	\$50.00	\$0.01	\$0.50	\$0.01	\$0.50
4	Traffic Cone	50	UN	\$50.00	\$2,500.00	\$1.00	\$50.00	\$0.01	\$0.50	\$20.00	\$1,000.00
5	Construction Signs	250	SF	\$8.00	\$2,000.00	\$1.00	\$250.00	\$1.00	\$250.00	\$5.00	\$1,250.00
6	Fuel Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
7	Asphalt Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
8	Clearing Site	1	LS	\$3,772.00	\$3,772.00	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
9	Excavation, Test Pit (If & Where Directed)	10	UN	\$100.00	\$1,000.00	\$50.00	\$500.00	\$1.00	\$10.00	\$0.01	\$0.10
10	Excavation, Substructures, Additional Depth (If & Where Directed)	10	CY	\$50.00	\$500.00	\$1.00	\$10.00	\$1.00	\$10.00	\$0.01	\$0.10
11	Excavation, Unclassified	40	CY	\$100.00	\$4,000.00	\$60.00	\$2,400.00	\$1.00	\$40.00	\$40.00	\$1,600.00
12	Dense Graded Aggregate Base Course, 6" thick	110	SY	\$15.00	\$1,650.00	\$20.00	\$2,200.00	\$90.00	\$9,900.00	\$20.00	\$2,200.00
13	Concrete Base Course, 4" Thick	100	SY	\$110.00	\$11,000.00	\$65.00	\$6,500.00	\$1.00	\$100.00	\$90.00	\$9,000.00
14	Tack Coat	16	GALLON	\$3.00	\$48.00	\$0.01	\$0.16	\$0.01	\$0.16	\$1.00	\$16.00
15	Prime Coat	37	GALLON	\$5.00	\$185.00	\$0.01	\$0.37	\$0.01	\$0.37	\$1.00	\$37.00
16	Hot Mix Asphalt 12.5ME Surface Course	15	TON	\$150.00	\$2,250.00	\$265.00	\$3,975.00	\$500.00	\$7,500.00	\$200.00	\$3,000.00

		ENGINEER'S ESTIMATE		L. Feriozzi Concrete Company 3010 Sunset Avenue Atlantic City, NJ 08401		35 Beaverson E Brick, N	Construction Blvd., Suite 12C IJ 08723	Think Pavers Hardscaping, LLC 125 Kings Highway Mount Royal, NJ 08061 856-832-4680			
					609-823-2563 ((BB, CS, SS, etc.))		732-262-7449 ((BB, CS, SS, etc.))		((BB, CS, SS, etc.))		
17	Hot Mix Asphalt 19M64 Base Course	30	TON	\$150.00	\$4,500.00	\$265.00	\$7,950.00	\$250.00	\$7,500.00	\$150.00	\$4,500.00
18	14" Ductile Iron Pipe	55	LF	\$170.00	\$9,350.00	\$155,00	\$8,525.00	\$50.00	\$2,750.00	\$80.00	\$4,400.00
19	Inlet, Type "E" with Square Framed Manhole Casting, Circular cover	2	UN	\$5,000.00	\$10,000.00	\$5,200.00	\$10,400.00	\$8,000.00	\$16,000.00	\$8,000.00	\$16,000.00
20	Inlet, Type "C"	1	UN	\$4,000.00	\$4,000.00	\$5,200.00	\$5,200.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00
21	Reset Existing Casting	1	UN	\$500.00	\$500.00	\$700.00	\$700.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
22	Detectable Warning Surface	5	SY	\$300.00	\$1,500.00	\$250.00	\$1,250.00	\$300.00	\$1,500.00	\$600.00	\$3,000.00
23	Concrete Pad, 6" Thick	8	SY	\$100.00	\$800.00	\$250.00	\$2,000.00	\$180.00	\$1,440.00	\$200.00	\$1,600.00
24	Concrete Vertical Curb	100	LF	\$45.00	\$4,500.00	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$40.00	\$4,000.00
25	Concrete Gutter, 8" Thick	100	LF	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$150.00	\$15,000.00
26	Concrete Header Curb	25	LF	\$40.00	\$1,000.00	\$55.00	\$1,375.00	\$30.00	\$750.00	\$30.00	\$750.00
27	Traffic Stripes, 8"	25	LF	\$0.70	\$17.50	\$1.75	\$43.75	\$8.00	\$200.00	\$3.00	\$75.00
28	Traffic Markings Lines, 6"	70	LF	\$10.00	\$700.00	\$1.75	\$122.50	\$6.00	\$420.00	\$2.00	\$140.00
29	Traffic Markings Lines, 24"	90	LF	\$6.00	\$540.00	\$4.75	\$427.50	\$25.00	\$2,250.00	\$9.00	\$810.00
30	Traffic Markings Symbols	78	SF	\$10.00	\$780.00	\$7.50	\$585.00	\$20.00	\$1,560.00	\$6.00	\$468.00
31	Curb Painting	50	LF	\$4.00	\$200.00	\$5.25	\$262.50	\$10.00	\$500.00	\$2.00	\$100.00
32	Removal of Traffic Stripes and Markings	1	LS	\$1,000.00	\$1,000.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00
33	Concrete Pavers	550	SF	\$20.00	\$11,000.00	\$27.00	\$14,850.00	\$20.00	\$11,000.00	\$15.00	\$8,250.00
34	Reset Concrete Pavers	290	SF	\$15.00	\$4,350.00	\$24.50	\$7,105.00	\$15.00	\$4,350.00	\$13.00	\$3,770.00
35	Reset Water Valve Box	1	UN	\$150.00	\$150.00	\$200.00	\$200.00	\$200.00	\$200.00	\$100.00	\$100.00
36	Tree Removal	4	UN	\$2,200.00	\$8,800.00	\$200.00	\$800.00	\$2,500.00	\$10,000.00	\$350.00	\$1,400.00
37	Halka HoneyLocust, 1.5-2" Cal., B & B	4	UN	\$900.00	\$3,600.00	\$575.00	\$2,300.00	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00
38	Bench	2	UN	\$1,800.00	\$3,600.00	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00
39	Relocate Bus Shelter and Bench	1	UN	\$5,000.00	\$5,000.00	\$1,200.00	\$1,200.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00
40	Regulatory and Warning Sign	29.25	S.F.	\$60.00	\$1,755.00	\$32.00	\$936.00	\$50.00	\$1,462.50	\$10.00	\$292.50
41	AS-Built Plans and GIS Data	1	L.S.	\$3,500.00	\$3,500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
SE B	D TOTAL (EXTENSON OF UNIT PRICI				\$122,947.50		\$100,186.78		\$124,894.07		\$126,709.00
BASI	BASE BID TOTAL (AMOUNT WRITTEN):						\$100,186.78		\$124,646.57		\$126,709.00
	Edward D. Bennis, Jr., P.E., P.P., C.M.E. New Jersey P.E. License No. 47002		-								



BID TABULATION

PROJECT NAME:

FY 2019 Safe Streets to Transit Program Downtown Traffic Calming Imp PROJECT NUMBER:

0116U145 CLIENT: City of Margate City DATE: February 11, 2021 BASE BID		11 Commerce Hammonto 609-70	crete, LLC ce Way Drive n, NJ 08037 04-5293 , SS, etc.))	20 Tra Southam 609	onstruction, Inc. nquility Court apton, NJ 08088 0-535-5367 CS, SS, etc.))	133 Pleas Absecon 609-33	nstruction, Inc. ant Avenue NJ 08201 30-7065 , SS, etc.))
	NTITY	UNIT		UNIT		UNIT	

BASE BID			((BB, CS, SS, etc.))		((BB, CS,	55, etc.))	((BB, CS, SS, etc.))		
	QUANTITY			UNIT		UNIT		UNIT	
#	DESCRIPTION	& L	INITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	Mobilization	1	LS	\$2,000.00	\$2,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
2	Breakaway Barricade	4	UN	\$0.01	\$0.04	\$750.00	\$3,000.00	\$15.00	\$60.00
3	Drum	50	UN	\$0.01	\$0.50	\$50.00	\$2,500.00	\$7.00	\$350.00
4	Traffic Cone	50	UN	\$0.01	\$0.50	\$20,00	\$1,000.00	\$2.00	\$100.00
5	Construction Signs	250	SF	\$10.00	\$2,500.00	\$20.00	\$5,000.00	\$12.00	\$3,000.00
6	Fuel Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
7	Asphalt Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
8	Clearing Site	1	LS	\$2,000.00	\$2,000.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00
9	Excavation, Test Pit (If & Where Directed)	10	UN	\$100.00	\$1,000.00	\$10.00	\$100.00	\$300.00	\$3,000.00
10	Excavation, Substructures, Additional Depth (If & Where Directed)	10	CY	\$50.00	\$500.00	\$100.00	\$1,000.00	\$50.00	\$500.00
11	Excavation, Unclassified	40	CY	\$65.00	\$2,600.00	\$100.00	\$4,000.00	\$120.00	\$4,800.00
12	Dense Graded Aggregate Base Course, 6" thick	110	SY	\$30.00	\$3,300.00	\$50.00	\$5,500.00	\$55.00	\$6,050.00
13	Concrete Base Course, 4" Thick	100	SY	\$80.00	\$8,000.00	\$80.00	\$8,000.00	\$150.00	\$15,000.00
14	Tack Coat	16	GALLON	\$5.00	\$80.00	\$50.00	\$800.00	\$0.01	\$0.16
15	Prime Coat	37	GALLON	\$5.00	\$185.00	\$50.00	\$1,850.00	\$0.01	\$0.37
16	Hot Mix Asphalt 12.5ME Surface Course	15	TON	\$375.00	\$5,625.00	\$400.00	\$6,000.00	\$650.00	\$9,750.00

				11 Commerce Hammonton, 609-704-	Lexa Concrete, LLC 11 Commerce Way Drive Hammonton, NJ 08037 609-704-5293 ((BB, CS, SS, etc.))		ruction, Inc. lity Court 1, NJ 08088 5-5367 SS, etc.))	West Bay Construction, Inc. 133 Pleasant Avenue Absecon, NJ 08201 609-380-7065 ((BB, CS, SS, etc.))	
17	Hot Mix Asphalt 19M64 Base Course	30	TON	\$270.00	\$8,100.00	\$200.00	\$6,000.00	\$240.00	\$7,200.00
18	14" Ductile Iron Pipe	55	LF	\$200.00	\$11,000.00	\$150.00	\$8,250.00	\$400.00	\$22,000.00
10000	Inlet, Type "E" with Square Framed			(5.55) F/S	292 47	1		\$9,500.00	\$19,000.00
19	Manhole Casting, Circular cover	2	UN	\$5,000.00	\$10,000.00	\$6,500.00	\$13,000.00	774 385	0 150
20	Inlet, Type "C"	1	UN	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00
21	Reset Existing Casting	1	UN	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
22	Detectable Warning Surface	5	SY	\$260.00	\$1,300.00	\$300.00	\$1,500.00	\$400.00	\$2,000.00
23	Concrete Pad, 6" Thick	8	SY	\$300.00	\$2,400.00	\$200.00	\$1,600.00	\$150.00	\$1,200.00
24	Concrete Vertical Curb	100	LF	\$120.00	\$12,000.00	\$45.00	\$4,500.00	\$75.00	\$7,500.00
25	Concrete Gutter, 8" Thick	100	LF	\$120.00	\$12,000.00	\$50.00	\$5,000.00	\$65.00	\$6,500.00
26	Concrete Header Curb	25	LF	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$100.00	\$2,500.00
27	Traffic Stripes, 8"	25	LF	\$3.00	\$75.00	\$50.00	\$1,250.00	\$3.50	\$87.50
28	Traffic Markings Lines, 6"	70	LF	\$2.25	\$157.50	\$20.00	\$1,400.00	\$3.00	\$210.00
29	Traffic Markings Lines, 24"	90	LF	\$9.00	\$810.00	\$75.00	\$6,750.00	\$11.00	\$990.00
30	Traffic Markings Symbols	78	SF	\$6.00	\$468.00	\$50.00	\$3,900.00	\$7.50	\$585.00
31	Curb Painting	50	LF	\$2.00	\$100.00	\$10.00	\$500.00	\$2.50	\$125.00
32	Removal of Traffic Stripes and Markings	1	LS	\$750.00	\$750.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00
33	Concrete Pavers	550	SF	\$34.34	\$18,887.00	\$20.00	\$11,000.00	\$30.00	\$16,500.00
34	Reset Concrete Pavers	290	SF	\$31.97	\$9,271.30	\$20.00	\$5,800.00	\$25.00	\$7,250.00
35	Reset Water Valve Box	1	UN	\$1.00	\$1.00	\$1,000.00	\$1,000.00	\$200.00	\$200.00
36	Tree Removal	4	UN	\$1.00	\$4.00	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00
37	Halka HoneyLocust, 1.5-2" Cal., B & B	4	UN	\$450.00	\$1,800.00	\$750.00	\$3,000.00	\$600.00	\$2,400.00
38	Bench	2	UN	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00	\$4,000.00	\$8,000.00
39	Relocate Bus Shelter and Bench	1	UN	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00
40	Regulatory and Warning Sign	29.25	S.F.	\$30.00	\$877.50	\$100.00	\$2,925.00	\$50.00	\$1,462.50
41	AS-Built Plans and GIS Data	1	L.S.	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
SE BI	SE BID TOTAL (EXTENSON OF UNIT PRICI				\$136,742.34		\$188,575.00		\$197,520.53
BASE	BASE BID TOTAL (AMOUNT WRITTEN):				\$136,742.34		\$188,375.00		
	Edward D. Dennis, Jr., P.E., P.P., C.M.E New Jersey P.E. License No. 47002								